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(4-Ri1106%)
10A31H (K) 0.040 0.039 0.041 0.067
10H30H (X) 0.041 0.039 0.043 0.072
10H29H (H) 0.040 0.040 0.041 0.067
10H28H(H) 0.041 0.039 0.049 0.067
10827H (1) 0.040 0.039 0.042 0.067
10A26H (%) 0.040 0.039 0.042 0.070
10H25H (K) 0.041 0.039 0.043 0.070
108248 ()K) 0.039 0.038 0.040 0.065
10H23H (N) 0.043 0.039 0.052 0.075
10H22H (A) 0.040 0.039 0.041 0.068
10821H(H) 0.041 0.039 0.043 0.070
10H20H (1) 0.041 0.039 0.043 0.070
10819H (£) 0.039 0.038 0.040 0.065
10H18H(XK) 0.040 0.039 0.043 0.072
10817H (K) 0.041 0.040 0.045 0.068
10H16H () 0.040 0.039 0.042 0.067
10815H (A) 0.041 0.039 0.043 0.070
10814H(H) 0.041 0.040 0.043 0.070
10813H (1) 0.041 0.040 0.043 0.068
10812H (£) 0.040 0.039 0.041 0.067
10811H(X) 0.040 0.039 0.044 0.067
10810H (JkK) 0.040 0.039 0.041 0.052 (3EHIiE)
108 9H () 0.040 0.039 0.042 0.067
10A 8H(A) 0.040 0.039 0.041 0.067
108 7H(RH) 0.040 0.039 0.044 0.065
108 6H(4) 0.041 0.039 0.044 0.068
108 5H (&) 0.040 0.038 0.041 0.068
10A 4H(X) 0.040 0.039 0.042 0.065
10A 3H(K) 0.040 0.039 0.041 0.067
108 28 () 0.039 0.039 0.040 0.065
108 1H(A) 0.039 0.038 0.041 0.065

X EimOBEEO#EHEIX. BEDERE GRERL) ZRICLEEZAY VT RAMDAIEEASDHHEEBEHLTLET,
$SEELL=F=4 I RAME/M L 1mDIE BEDHEERLEDFEY=06)




